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������� �. 1 ���
�"����������$&"���&�'�����
(��
)����&����� �#������(�
(��
�(�*�

�� 
 
 ���������	
��
�
���������
������
����������� (���
������������������� 82

(w/w), ������������������������� 2 (w/w) !����"������� 16 (w/w)) ���# ��"�������� 
$��%��&��� ���
'�$���$#��� (
��
��!��$���)�!��) �����&��*����% (
���&����+�+���������
!������ 80) ��"� !����������# 
 
�,�����
�����	���#
�����
�������� 
 
�������    ������  10 (w/w) 
���#     ������  11 (w/w) 
��"��������    ������  10 (w/w) 
$��%��&���    ������  5 (w/w) 
���
'�$���$#��� 
 
��
��    ������  0.1 (w/w) 
 $���)�!��   ������  0.04 (w/w) 
�����&��*����% 
 
���&����+�+��������� ������  0.12 (w/w) 
 ���� 80    ������  0.03 (w/w) 
��"�     ������  63.71 (w/w) 
 
���	����#
���������
����'�� 1000 
��� ���#
�����������#��� 
 
1. ����� 
 
 ���
����'�� 100 
��� ���#
��������� 10 
��� 
 
 ���
����'�� 1000 
��� ���#
��������� = 10 x 1000

100
 

        =  100 
��� 
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 ������� 82 
��� �����)�
�����  100 
��� 
 
 ������� 100 
��� ���#
�������  = 100 x 100

82
   

   
        =  121.95 
��� 
 
2. ���# 
 
 ���
����'�� 100 
��� ���#
�����#  11 
��� 
 
 ���
����'�� 1000 
��� ���#
�����#  = 11 x 1000

100
  

 
        =  110 
��� 
 
���	�#)�
�������������������������������� 2 (w/w) 
 
��#����)-#���#
�����#  110 - �2 x 121.95

100
�  = 107.56 
��� 

 
3. ��"�������� 
 
 ���
����'�� 100 
��� ���#
����"�������� 10 
��� 
 
 ���
����'�� 1000 
��� ���#
����"�������� = 10 x 1000

100
  

 
        =  100 
��� 
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4. $��%��&��� 
 
 ���
����'�� 100 
��� ���#
��$��%��&��� 5 
��� 
 
 ���
����'�� 1000 
��� ���#
��$��%��&��� = 5 x 1000

100
  

 
        =  50 
��� 
 
5. ���
'�$���$#��� 
 5.1 
��
�� 
 
 ���
����'�� 100 
��� ���#
��
��
��  0.1 
��� 
 
 ���
����'�� 1000 
��� ���#
��
��
��  = 0.1 x 1000

100
  

 
        =  1 
��� 
  
 5.2 $���)�!�� 
 
 ���
����'�� 100 
��� ���#
��$���)�!�� 0.04 
��� 
 
 ���
����'�� 1000 
��� ���#
��$���)�!�� = 0.04 x 1000

100
  

 
        =  0.4 
��� 
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6. �����&��*����% 
 6.1 
���&����+�+��������� (GMS) 
 
 ���
����'�� 100 
��� ���#
�� GMS  0.12 
��� 
 
 ���
����'�� 1000 
��� ���#
�� GMS  = 0.12 x 1000

100
  

 
        =  1.2 
��� 
 
 6.2 ���� 80 
 
 ���
����'�� 100 
��� ���#
������ 80  0.03 
��� 
 
 ���
����'�� 1000 
��� ���#
������ 80  = 0.03 x 1000

100
  

 
        =  0.3 
��� 
 
7. ��"� 
 
��"� =  1000 - (121.95+107.56+100+50+1+0.4+1.2+0.3) = 617.59 
��� 
 
'����'�. 
 
���
���/0����
���
'�!��#
��	��������+��
��������������#������ 1 (w/w) ��#
��"�'��
���
����'�� ���� 
 
�/0����
����'�� 1000 
��� ���#�����#������� = 0.1 x 1000

100
  

 
        =  1 
��� 
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������� �. 2 ���
�"����������$&"���&�'�����
(��
)��������
(��+���� �����       
&
���,��� (Two-phase process) 
 
 
���������
���+��
�����
����#��12�$)�!�

�����������������
��3� 2 ����
$����12�$��#�������� (emulsion phase) !����12�$��#�������� (solution phase) )�
����
)-#�"�����������#��#�����
��
��������
���
���/0�!�4#
������������'���#��12�$��#
�������������12�$��#������������
�������� 40 ��� 60 (w/w) &-	#)���������������#�������
���#5 ����
�����
����,��$��$.� 
 
�,�����
�����	���#
�����
�������� 

1. ��12�$��#�������� 
 �������   ������  25 (w/w) 

 ���%+�����   ������  0.3 (w/w) 

 ��"�    ������  74.7 (w/w) 

2. ��12�$��#�������� 
 ���#    ������  18.33 (w/w)   
 ��"��������   ������  16.67 (w/w) 

 $��%��&���   ������  8.33 (w/w) 

 ���
'�$���$#���  
  
��
��   ������  0.17 (w/w) 

  $���)�!��  ������  0.07 (w/w) 

 ��"�    ������  56.43 (w/w) 

 
���	����#
���������
����'�� 1000 
��� ���#
�����������#��� 
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1. ��12�$��#��������  400 
��� 
 1.1 ������� 
 
 ��12�$��#�������� 100 
��� ���#
��������� 25 
��� 
  
 ��12�$��#�������� 400 
��� ���#
��������� = 25 x 400

100
  
         =  100 
��� 
 
 ������� 82 
��� �����)�
�����  100 
��� 
 
 ������� 100 
��� ���#
�������  = 100 x 100

82
   

   
        =  121.95 
��� 
 
 1.2 ���%+����� 
 
 ��12�$��#�������� 100 
��� ���#
�����%+����� 0.3 
��� 
  
 ��12�$��#�������� 400 
��� ���#
�����%+����� = 0.3 x 400

100
  
         =  1.2 
��� 
 
 1.3 ��"� 
  
 ��"� = 400 - (121.95 + 1.2) = 276.95 
��� 
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2. ��12�$��#��������  600 
��� 
 2.1 ���# 
  
 ��12�$��#�������� 100 
��� ���#
�����# 18.33 
��� 
 
 ��12�$��#�������� 600 
��� ���#
�����# = 18.33 x 600

100
  

 
        =  109.98 
��� 
 
���	�#)�
�������������������������������� 2 (w/w) 
 
��#����)-#���#
�����#  109.98 - �2 x 121.95

100
�  = 107.56 
��� 

 
 2.2 ��"�������� 
  
 ��12�$��#�������� 100 
��� ���#
����"�������� 16.67 
��� 
 
 ��12�$��#�������� 600 
��� ���#
����"�������� = 16.67 x 600

100
  
        =  100.02 
��� 
 
 2.3 $��%��&��� 
  
 ��12�$��#�������� 100 
��� ���#
��$��%��&��� 8.33 
��� 
 
 ��12�$��#�������� 600 
��� ���#
��$��%��&��� = 8.33 x 600

100
  
        =  49.98 
��� 
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 2.4 
��
�� 
  
 ��12�$��#�������� 100 
��� ���#
��
��
�� 0.17 
��� 
 
 ��12�$��#�������� 600 
��� ���#
��
��
�� = 0.17 x 600

100
  

        
        =  1.02 
��� 
 
 2.5 $���)�!�� 
  
 ��12�$��#�������� 100 
��� ���#
��$���)�!�� 0.07 
��� 
 
 ��12�$��#�������� 600 
��� ���#
��$���)�!�� = 0.07 x 600

100
  
        =  0.42 
��� 
 
 2.6 ��"� 
 ��"� = 600 - (107.56 + 100.02 + 49.98 + 1.02 + 0.42) = 341 
���
  
'����'�. 
 
���
���/0����
���
'�!��#
��	��������+��
��������������#������ 1 (w/w) ��#
��"�'��
���
����'�� ���� 
 
�/0����
����'�� 1000 
��� ���#�����#������� = 0.1 x 1000

100
  

 
        =  1 
��� 
  
 
   
  



 
 
 
 
 
 
 
 
 
 
 
 
 

������� � 
����(�����-�&� ��(��������� 
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������� �. 1 ����(�����-���(��$�
�!�.����
�
���+	'��/����/�-�+ (AOAC, 2000: Method 
932.12) 
 
1. �$��	�#��� 
 1.1 �$��	�# Refractometer (ATAGO: Model Pocket PAL-1 0-85 �Brix, Japan) 
 
2. ��7����$���'% 
 2.1 
����"�
����������8��#!�4#��	��������
���"��.
$���# ���#�"�
������$������9��
��#�$��	�# (calibration) ������"�
��	� &-	#$����	����������#��$������
�� 0 �Brix 
 2.2 �"��������#���
����'����	����
�������	�.8'2,�� 4±1 �#���&��&��� ��3����� 12 
��	�+�# ��������8��#!�4#��	��������
���"����#�����$��	�# Refractometer +��$��$.��.8'2,����#
���
����'���8������	 25±2 �#���&��&��� ����-
$����	��� ���#�������8��#!�4#��	��������
�
��"�
�'������# �Brix 
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������� �. 2 ����(�����-�����-�0+�
��
)�����-
� (+�+!�
���� Dervisoglu, 2006) 
 
1. �$��	�#��� 
 1.1 �$��	�#���$���'��� (Brookfield viscometer, Model LVDV-II+, USA)  
 
2. ��7����$���'% 
 2.1 ��:�����&%�$��	�#���$���'��� !��������	$���'����� ��
)�
!
�������% )�
����
�
�.;�
�5 �$��	�#)��"�
�� calibrate +�����+����� 
 2.2 '��#�"�
�� calibrate ���4) '���)���#�$��	�#)�!��#���$������ 
'�
��'�������� )-#

��'�������	)�
��$�� '����� S2 !�������
$�����4����
�
�����$���'%$��$���'���+��
��
�'���� 
rpm 
'��'�����
��$���'�����#�������# 
 2.3 �"��������#���
����'��������� 600 ��������� ��	����
�������	�.8'2,�� 4±1 �#��
�&��&��� ��3����� 12 ��	�+�# �����$���'���+��
'�'�����$���'���).��
��������#
'�<-#�����	

"�'�� +��$��$.��.8'2,����#�������#
'�$#��	��	�.8'2,�� 15±2 �#���&��&���  
 2.4 
���
�����$��$���'����.
$���#���#�"�
���������#'�����
��� +��
������������
��
'��������5 
'�$�� T (torque) ��,�
����#��'���#������ 0±0.3  
 2.5 ���	����$��$���'���!�����	�)������ ����$��$���'�����	���'��#������%'�.���3����� 
1 ���� ���#����$��$���'�����#���
����'��
�'���� centi Poise (cP) 
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������� �. 3 ����(�����-��"�����1/�*� (overrun) �
��
)�����+����-�+��(��������� 
(Arbuckle, 1986) 
 
1. �$��	�#��� 
 1.1 �$��	�#��	#�"�'���#�����$���'% (Analytical balance) 
 
2. ��7����$���'% 
 2.1 ��	#��"�'��
���
����'����	����
�������	�.8'2,�� 4±1 �#���&��&��� ��3����� 12 
��	�+�# ��	���).)���4�
�<���>�����
����$���). 30 �,
���
%��������� ��	������"�'��
 ��
�$��	�#��	#������ 3 �"�!'��# ����-
��"�'��
��#���
����'�� 
 2.2 ���	��/0����
���$�������������
�
���/0�!���)-#��
���
�����	������).�#
�<���
>�����

����� ��	#��"�'��
���
��� ����-
$����"�'��
���
��� 
 
3. ��7�
��$"���8 
 $��
���-��*, (������)  = ��"�'��
���
����'��-��"�'��
���
��� x100 
                ��"�'��
���
��� 
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������� �. 4 ����(�����-�
��������1/�*� (overrun rate) �
��
)����+	���(2����-�+��(����
����� (Arbuckle, 1986) 
 
1. �$��	�#��� 
 1.1 �$��	�#��	#�"�'���#�����$���'% (Analytical balance) 
 
2. ��7����$���'% 
 2.1 ��	#��"�'��
���
����'����	����
�������	�.8'2,�� 4±1 �#���&��&��� ��3����� 12 
��	�+�# ��	���).)���4�
�<���>�����
����$���). 30 �,
���
%��������� ��	������"�'��
 ��
�$��	�#��	#������ 3 �"�!'��# ����-
��"�'��
��#���
����'�� 
 2.2 �"����
����'��������� 1000 ��������� �/0������$��	�#�/0����
��� 
���'���#
��
�/0����
��� �.���������#���
����>�	��"������$��������
���-��*,�.
5 5 ���� )�$�� 40 ���� 
 2.3 �"�����	����������
��*��'���#������
���-��*,����������� $��$��������#
��*��	
��� $�� �����
���-��*, (������
���-��*,�������) 
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������� �. 5 ����(�����-�
�������
�
�� (melting rate) (+�+!�
��(2��
� Segall and 
Goff, 2002) 
 
1. �.�
�8% 
 1.1 ��!
�#�����	������ 272 ���#/����#���� 
 1.2 ��
�
��% 
 
2. �$��	�#��� 
 2.1 �$��	�#��	#�"�'���#�����$���'% (Analytical balance) 
 
3. ��7����$���'% 
 3.1 �"��������#���
���&-	#���).��4�<���>�����
��	�����������!�������	����
��!��
����
!�4#��	�.8'2,�� -18±2 �#���&��&��� ��3����� 24 ��	�+�# ����	#��"�'��
���	���� 
 3.2 !
����<���>�����
��
!���"����
�����#����!
�#�����	������ 272           
���#/����#���� +��$��$.��.8'2,��'��#��	 25±2 �#���&��&��� 
 3.3 ��#������
�����	�����������
�
��%���� 1000 ��������� )������!������-
��"�'��

��#���
�����	'�����.
5 5 ���� )�$�� 60 ���� 
 3.4 �"�����	����������
��*��'���#��������#��"�'��
��	'��������������� $��$������
��#
��*��	��� $�� �����
������� ���#����
������#
�'������������#��"�'��
��	'�������
���� 
 
 
 
 
 
 
 
 
 
 



124

������� �. 6 ����(�����-���������� (firmness) (+�+!�
���� Aime et al., 2001) 
 
1. �$��	�#��� 
 1.1 Texture analyzer ���� TA. XT. Plus 

 1.2 ����	
�����
�� (Cylindrical probe) ���	����������������� 2 ���������
 1.3 ���������� �������!�������

2. ��"#���������
 2.1 �!$	������� Texture analyzer ������������ 30 ��
# %&� Load cell ���	 50 
��'����� 
(���� calibrate force 	��������)(����� 2000 ����%���� calibrate �������'	���� 
calibrate Force *����)�%�������	
�����
�����	����������������� 2 ��������� 
(���� 
calibrate height �����+�	������ calibrate ���,*���� 
'�$��
 OK �>�	�����
�# 
 2.2 
"�'��$���>�	�
�����$���'%��#��� $�����4�
�
���$��	����	��#'�����
���
������� 
�8������ !��'��#
������� $�� 2.0, 1.0 !�� 2.0 ������������������ ����"���� 
�'������#

��������#��3�������# 10 ��������� ����$��!�#
��,#�.� ('������3�
���) ��	���&-	#��,�).��,#�.�
��#
��* (maximum positive peak) &-	#$��$��$���$#��� (firmness) ��#�������#���
��� 
 2.3 �"�
�����$���'%��+��
�� Run Macro 
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������� �. 7 ����(�����-�&� ��(������
�
�� (+�+!�
���� -����(���, 2553) 
 
1. �$��	�#��� 
 1.1 �$��	�# Advanced Rheometer �.�� AR 2000 
 1.2 '�����!�� plate and plate ���������,��%
��# 25 ��������� 
 1.3 !��>��>%�������������,��%
��# 25 ��������� '�� 2.5 ��������� 
 1.4 �$��	�#�������� 
 
2. 
���������������#
���
�����$���'% 
 2.1 �"��������#���
���!������	#����#��	���'��#)�
�/0������$��	�#�/0����
��� ���).�#

�!��>��>% ��	��#�������
��%�>�����
�������� 
 2.2 ������'������
���
'������ 
 2.3 �"���!������
!�4#��	�.8'2,�� -18±2 �#���&��&��� ��3����� 24 ��	�+�# 
����"���
���$���'% 
 
3. 
���������$��	�#
���
�����$���'% 
 3.1 ���)��4$�,$��������������#�.�
�8%�.
������#�$��	�#
'���,�
��2�>��	>����
�"�'���
�����$���'% 
 3.2 ��������C
��#�/D��� ��)�
����	#$�������-��<-# 30 psi 
 3.3 ��4$������������
��$��	�#$��$.��.8'2,������>��#>�'������<��������������
�>��#>�
'������������$���������������� 70 
'�<-#�����
�������	
"�'�� ��������C
 ��:� 
switch ����'��� 
��.;����#�.8'2,�� T2 ���#�.8'2,����	���#
�� !��
� Enter 
 3.4 ��������C
�$��	�#�"���#�* (stabilizer) ��:� switch ����'��#�$��	�# 
��.;� ON 
����'����$��	�# 
 3.5 ��:���	$���'�����!���	#��#�$��	�#��+�������% !����:� switch ��#�$��	�#��+�������%
����'��#�$��	�# 
 3.6 ��:��$��	�#$��>������% !������+��!
�� AR Instrument control  
 3.7 ���
��'���������
���$��	�#��+�������% +��)����#���
������$������������#!��
<,
���# $�� 
��'������������#!���'�.��
�,�-���,���������#�������������� '���'�.�'������������#
+����4���� 
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4. 
������
'�����!��
�� calibrate 
 4.1 ����
'�����+���������, Geometry 
"�'��������#'�������	
��
�
�����$���'% 
 4.2 ����
���, Calibrating inertia (calibrate '�����) ����
���, Rotational Mapping 

(calibrate 
��'�.�) !������
���, Zero Gap (calibrate $����,#)�
'�����<-#9��) 
 
5. ��7����$���'% 
 5.1 ����# method 
�
�����$���'% 
 5.2 ����
��7���	
��
�
�����$���'% &-	#��7���	����
)����
1��	'��� Procedure 
�����������)�
����
 Oscillation &-	#)����
�������������
�
�����$���'%'���������� +�����	�)�
 Condition

step �"�
�����#�.8'2,���8��� �$���'% ����
�� -5 �#���&��&��� ��� #$��  Gap ����
�� 3000 
��+$����� 
 5.3 )�
��������
 stress sweep step �>�	�'����# Linear Viscoelastic Region (LVR) 
��#�������#���
��� +��
"�'�����#$����$����	� (oscillating stress) ��'���# 0.03259-50 Pa 
+��
"�'��
'���$���<�	 (frequency) $#��	����
�� 1 Hz ���	����#$�����#5 ���������!����"�
������-
 
Procedure 
 5.4 
�����'������,'��
 
 5.5 ����
���, Experiment run Information ���.����,���#�������# 
 5.6 
��.;� OK (�$��	�#'�������'��	���������) �>�	����	�
�����$���'%�������# 
 5.7 ���	����
��*��#�������#��	!�4#!��������	�.�!���)����$��  LVR $������
$�� 
oscillating stress ��	�'�����)�
���#��	
��*��3�������#��	�.� 
 5.8 �"�$�� oscillating stress ��	��������$���'%+����7� frequency sweep step +��

"�'�����#$���<�	��'���# 0.1-100 Hz ���	����#$�����#5 ���������!����"�
������-
 Procedure 
 5.9 
�����'������,'��
 
 5.10 ����
���, Experiment run Information ���.����,���#�������# 
 5.11 
��.;� OK (�$��	�#'�������'��	���������) �>�	����	�
�����$���'%�������# 
 5.12 )����$�� elastic modulus (G�) $�� viscous modulus (G��) $�� loss tangent    

(tan �) !��$�� complex viscosity (�*) 
 
 
 



 
 
 
 
 
 
 
 
 
 
 

 
 

������� � 
����(�����-�&� ��(������� 
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������� �. 1 ����(�����-��"�������3���+-+"�� (AOAC, 2000) 
 
1. �.�
�8% 
 1.1 ��
�
��% (Beaker) ���� 50 ��������� 
 1.2 !��#!
��$���� 
 
2. �$��	�#��� 
 2.1 �$��	�#���$��$�����3�
��-���# 
 
3. ��7����$���'% 
 4.1 
���
��
���$��	�#���$��$�����3�
��-���# 
'�����$������9�� (calibration) ����
������������9����	��$��$�����3�
��-���#����
�� 4.00 !�� 7.00 ����"���� ��	�.8'2,�� 25±2 
�#���&��&��� 
 4.2 ���$��$�����3�
��-���#��#��������!�����
����'����	����
�������	�.8'2,��
�����8 4 �#���&��&��� ��3����� 12 ��	�+�# 
 4.3 $��$.��.8'2,����#�������#�8����$��$�����3�
��-���#��	 25±2 �#���&��&��� 
 4.4 )�����-
$��$�����3�
��-���#��#�������# 
 '����'�. 
 1. 
������$��$�����3�
��-���#��#�������#�.
$���#���#���#'������$+�����#�$��	�#���$��
$�����3�
��-���#
'������������"�
��	� &������
����E����,�!���).���#
��������#��	���#
�����
'�
����'������$+��� 
 2. ����*��
(������	��������!-���	-	������,*��#�
����+��� 
(�������������'
��%��
����		����)(������  
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������� �. 2 ����(�����-���(��$����� �+��(2���&-�
����
��  (Rose-Gottlieb) (AOAC, 
2000: Method 905.02) 
 
1. �.�
�8% 
 1.1 ��
�
��% (Beaker) ���� 50 ��������� 
 1.2 ��
�
��% (Beaker) ���� 250 ��������� ��	����
����!����	#��"�'��
��	!����� 
 1.3 
����
��# (Cylinder) ���� 50 ��������� 
 1.4 �:��� ���� 10 ��������� 
 1.4 +<�,�$������� (Desiccator) ��	������,�$������� ���� &���
��)� 
 1.5 
���!�
 ���� 250 ��������� 
 
2. �$��	�#��� 
 2.1 �$��	�#��	#�"�'���#�����$���'% (Analytical balance) 
 2.2 �,���������!���**F� (Hot air oven) 
 2.3 �,��,�$��� (Hood) 
 2.4 ���#��"����� (Water bath) 
 
3. ����$�� 
 3.1 ������� ������% (Diethyl Ether) ����)�
����%��
�&�% 
 3.2 �:+������� ������% (Petroleum Ether) ).������ 30-60 �#���&��&��� 
 3.3 !��+������ �G���
�&�% (Ammonium hydroxide) $���������������� 25-30 
 3.4 ����� !��
�G��% (Ethyl alcohol; C2H3OH) $���������������� 95 
 3.5 �������������� 3.1 !�� 3.2 
���������� 1:1 
 
4. ��7����$���'% 
 4.1 ��	#�������#������"�'��
�����8 2 
��� (����-
��"�'��
�������#��	
��)��#������ 4 
�"�!'��#) (W1) 
���
�
��%���� 25 ��������� <����������#�#
�
���!�
 
 4.2 ������"�
��	�������� 10 ��������� �>�	����#�������#
���
�
��% !������#
�
���!�
 
 4.3 ������������!��+������������ 1.25 ��������� �����
'�����
�� 
 4.4 ��������� !��
�G��%$���������������� 95 ������� 10 ��������� �����
'�����
��  
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 4.5 ����������� ������%������� 25 ��������� �:�).

'�!��� �"�
���
��+��
�������!�#5 
1 ���� ��:�).
����#���������#+��
��$���5 ��:� !�����#).
���������������)"������4
���� 
 '����'�. 
 $������#���	�#)�
$����������#����"��������	�
���-��$������#�,#)-#���#'��	�$���).

�>�	���$��������	�
���-��2��
�
���!�
 
 4.6 �����:+������� ������%������� 25 ��������� �:�).

'�!��� �"�
���
��+��
�������
!�#5 1 ���� ��:�).
����#���������#��
$���# !�����#).
���������������)"������4
���� 
 4.7 ���#���#���
'���������!�
���� (�����8 30 ����) ����#�'���������#
��
���
�
��%��	

����	#��"�'��
�������#
���� 4.1 !��<���������������
�������
��
���
�
��%���� 250

��������� ��	����
����!����	#��"�'��
��	!����� (W2) 
 4.8 �"���#�'���������#���"�
���
����
 2 $���# +����������� !��
�G��%��
 5 ��������� 
�"�
���
���'������� 4.5 <-# 4.7 !������	�����������#������� ������%!���:+������� ������% 
�

���
����3� 15 ��������� 
 4.9 �"���
�
��%��#���#���#���
��,��,�$��� )������8������� ������%!���:+������� ������%
���'���
)�'�� )-#�"��������
��,���������!���**F���	�.8'2,�� 100±2 �#���&��&��� ��3�
���� 2 ��	�+�# )�
�����"���
�
��%
��
�+<�,�$���������
'���4���3����� 1 ��	�+�#  
 4.10 ��	#��"�'��
��
�
��%!������� )�����-
��"�'��
��	!����� (W3) 
 
5. ��7�
��$"���8 
 

�����8��#����� ��������#��"�'��
  = (W3-W2) / W1  x 100 
 
���	�  W1 = ��"�'��
�������# ��'������3� 
��� 
 W2 = ��"�'��
��
�
��% ��'������3� 
��� 
 W3 = ��"�'��
��
�
��%��	������� ��'������3� 
��� 
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������� �. 3 ����(�����-���(��$������ (AOAC, 2000: Method 930.33) 
 
1. �.�
�8% 
 1.1 !��#!
��$���� 
 1.2 '���'��������4
 
 1.3 $��������4
 
 1.4 !$�&,����.
 (tin capsule) �"�'������).�������# 
 
2. �$��	�#��� 
 2.1 �$��	�#���$���'% Nitrogen/Protein Determinator Combustion 
 2.2 �$��	�#��	#�"�'���#�����$���'% (Analytical balance)

3. ��7����$���'% 
 3.1 
������������#���
����'��
'�����
��)�
����
��'���'��������4
�,��������#
���
�����"�'��
 0.2-0.3 
��� (����-
��"�'��
�������#��	
��)��#������ 4 �"�!'��#) ���).
�
!$�&,����.
 
 3.2 �������!$�&,�
'����
�����#��#����!��>���#����4
��������#���������# �>�	�
�F�#
��
���,I�����������#��'���#
���������������# 
 3.3 ����-
��" �'��
�������#��'���)�$��$.��$��	�#�� �$���'%  Nitrogen/Protein
Determinator Combustion 
 3.4 
��.;� start �>�	���:����#�"�'���
���������#��	
��
�
�����$���'% 
��!$�&,��������#�#
�� )�
����
��.;� start ��
$���#�>�	����	�
�����$���'%'������8��+���)���������#��"�'��

�������# 
 3.5 ����-
�����8��+���)���������#��"�'��
�������#��	���$���'%��� !���"�����,���	���
��$,8 6.25 &-	#��3�!*
����%�"�'���'������8+�������������#��"�'��

��������#���
��� 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 

������� � 
����+&
 �#$���������&��&����& 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



133

������� �. 1 !  �+&
 �#$���������&��&����&+	���(2� Hedonic scale scoring test 
 
%0�
��	�+&
 %(� ...............................................................    ������ ........................................... 
%0�
�
(���$4� : ���
���  
 
���%�/!�� : 
�.8�������������#��������!��
'������$������!�������������
E8����# 5 ��#����2�8K% +��

'������$�!����	�'������>�	�!��#
'��'4������������7����$����,��-
���!��������
������
�+����
$�!��$��������#��� 
 
�������#$������ �����$�!�� �������#$������ �����$�!�� 
�����
��	�.� (Like extremely) 9 ��������4
���� (Dislike slightly) 4

�����
 (Like very much) 8 ���������
��# (Dislike moderately) 3

������
��# (Like moderately) 7 ��������
 (Dislike very much) 2

�����4
���� (Like slightly) 6 ��������
��	�.� (Dislike extremely) 1

�M�5 (Neither like nor dislike) 5  
  
 

��
E8�$.82�> 
����2�8K%�������# 

______ ______ ______ 
����	���
1 ______ ______ ______ 
��'��� ______ ______ ______ 
$������������� ______ ______ ______ 

�������
���
 ______ ______ ______ 

����������� ______ ______ ______ 
 
 �������!�� 
:_________________________________________________________________________________________
_________________________________________________________________________________________
____________________________________ 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 

������� 5 
����������
)����!
��������(�����-� 
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2�>2�$���
��	 M. 1 ���
����'��'��#)�
�������
����� 
 

 
 

2�>2�$���
��	 M. 2 �$��	�#+G+�)���&% 
 

 
 

2�>2�$���
��	 M. 3 �������
��>���)���&%���
����'�� 
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2�>2�$���
��	 M. 4 ���#��"�����$��$.��.8'2,�� 
 

 
 

2�>2�$���
��	 M. 5 ���
�����	����
�������	�.8'2,�� 4 �#���&��&��� ��3����� 12 ��	�+�# 
 

 
 

2�>2�$���
��	 M. 6 �$��	�#�/0����
��� 
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2�>2�$���
��	 M. 7 ���
�����	���'��#
���/0���3����� 30 ���� 
 

 
 

2�>2�$���
��	 M. 8 ���
�����	���'��#
���/0���3����� 40 ���� 
 

 
 

2�>2�$���
��	 M. 9 �,�!��!�4# 
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2�>2�$���
��	 M. 10 
����������
������� 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 

������� % 
�	
���-�+!
�����6������7-��� 
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!��������
�����"��.���  
(/
�

#� 222)  .�.2544  

������ 0����#�  
-------------------------------------- 

        '	�
#��!-���������!��
!���!��������
�����"��.������	��������� 0����#� 

        ������(���*�������%������ 5 +������� 6(1)(2)(4)(5)(6)(7) +�� (10) +���
 ����&
�11��������  .�.2522 ����!-� ����&
�11���
#��#


�11���
��!�������#�����
���
*(���	��
"�+�� ���#2� ���
���� 34������� 29 !����
��
����� 35 ����� 48 +������� 50 
�����5"�����1+�����&��.�*���0
�
�11���%�����
(�0	�'	�������(���*���


�11���+���
�6���� ��5����#���������
�����"��.������!�����0�� 	�����0!�#) 

        ��� 1 %��������  
            (1) !��������
�����"��.��� /
�

#� 33 ( .�.2522) ������ �(���	0����#��!-������
��
����/ ��+���(���	��.2� ��������5��+����"#������� �����
#� 13 �������  .�.2522  
            (2) !��������
�����"��.��� /
�

#� 101 ( .�.2529) ������ �(���	0����#��!-������
��
����/ ��+���(���	��.2� ��������5��+����"#������� (/
�

#� 2) �����
#� 7 ���6��� 
 .�.2529  

        ��� 2 %��0����#��!-��������
����/ �� 

        ��� 3 0����#������� 2 +
���!-� 5 &��	  
            (1) 0����#��� 0	�+�� 0����#�
#�
(��4)�'	�%&�����������2�.7�
#�0	�*����  
            (2) 0����#�	�	+!�� 0	�+�� 0����#���� (1) 
#�
(��4)�'	�%&�0����&��	����+
�������

�)���	����+��
������ ����0����#�
#�
(��4)�'	�%&�����2�.7�
#��#0����+������2�.7���)���%&�
����2�.7�
#�0	�*����  
            (3) 0����#���� 0	�+�� 0����#���� (1) ���� (2) +���+����.# 34���#��0���������8����� 
#�
�!-�������!-������������	���  
            (4) 0����#���� (1)(2) ���� (3) &��	���� ����+��� ������  
            (5) 0����#�������,� 0	�+�� 0����#�
#�
(��4)�'	�%&��)(�+���)(���� ������*�#���8�����
#��!-�
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������!-������������	���  
            0����#�	���������*%�����8�+�������� �� +���#	����,0	� 

        ��� 4 0����#�
��&��	 ������0����#������� 3(4) ��������������"#����(�	�
 	�����0!�#)  
            (1) ��������������� ��������������"#��4����"#%	 	���#)  
               (1.1) 
(�%�������4)�84���.�2���0����(����� 68.5 �����3��3#�� +����0��
#���.�2����#)0��
�������� 30 ��
# ����  
               (1.2) 
(�%�������4)�84���.�2���0����(����� 80 �����3��3#�� +����0��
#���.�2����#)0������
���� 25 ����
# +��*������#���������	��.�2��� ����	����������
��
4����'�����+�	���.�2������� 
#�
%&�*��� ����  
               (1.3) 
(�%������'	�������"#�������
#��(��������.�������������+������,�&�
	���  
            (2) 
(�%����,���
��
#
#���.�2��� 4 �����3��3#�� +����0��
#���.�2����#)  
            (3) !9:� ��� ������� +���+����.# +��
(�%�������+�,�
#���.�2���0��������� –2.2 ����
�3��3#�� ����
��*���%�2�&��
��*�� ���*(������ +��������,
0��
#���.�2���0��������� –2.2 ����
�3��3#���#)*�����*�*(������ 

        ��� 5 0����#� �����#��.2� ��������5�� 	�����0!�#)  
            (1) 0����#��� �����#�������!-��������0���������������� 5 ����)(����� +���#"���
�)(���0�����������0���������������� 7.5 ����)(�����  
            (2) 0����#�	�	+!�� �����#0����
�)���	0���������������� 5 ����)(�����  
            (3) 0����#���� �����#����5���&���	#����
 (1) ���� (2) +���+����.# 
�)��#)'	�0����
���
�)(����������0���������8�
#��!-�����������������  
            (4) 0����#�������,�+��0����#������� 3(1)(2) ���� (3) ����  
               (4.1) 0���#��������  
               (4.2) %&����8�
#�%����������+
��)(��������%&�������
�)(���� ���*�����%&��)(����0	� 
'	�%��%&����8�%����������+
��)(����0	��������5������� ��; �� '�/	�

��� ��& '�, '�
�	,�3� (Joint FAO/WHO Codex) 
#����	������������8��*��!������+��/
�

#�0	�+��0�� �������  
               %���.#
#�0���#����5���(���	0�����������4��%���(��������.�������������+��
��!������(���	'	�������,�&�
����.�������������  
               (4.3) 0���#���8������#�  
               (4.4) �#
�����#0	�0������ 600,000 %������ 1 ����  
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               (4.5) ���*0�� 

�����#&��	 �#.'�0� (Escherichia coli) %������ 0.01 ����  
               (4.6) 0���#*����
�#��
#�
(�%�����	'��  
               (4.7) 0���#����!-� �<*��*����
�#��%�!����.
#���*�!-��������������2�   
            (5) 0����#�&��	���������#��.2� ��������5����� (1)(2) ���� (3) +���+����.# +��
�����#��.2� ��������5����� (4) 	��� 

        ��� 6 0����#�&��	+��� ������ �����#��.2� ��������5�� 	�����0!�#)  
            (1) 0���#��������  
            (2) �#�����������<.��/ �����0����#�&��	��)�  
            (3) �#���<.�0�������!-����� ��	0!*�����<.�
#�
(��4)�  
            (4) %&����8�
#�%����������+
��)(��������%&�������
�)(���� ���*�����%&��)(����0	� '	�
%��%&����8�%����������+
��)(����0	��������5������� ��; �� '�/	�

��� ��& '�, '��	,�3� 
(Joint FAO/WHO Codex) 
#����	������������8��*��!������+��/
�
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